Supplementary Figure 1. A) Inter-assay variability of internal control B) Correlations between ELISA and LUMINEX measurements
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	Lower Detection Limit
	Higher Detection Limit
	Internal Control

	Plates
	ST-2 (ng/ml)
	sCD14 (ng/ml)
	ST-2 (ng/ml)
	sCD14 (ng/ml)
	ST-2 (ng/ml)
	sCD14 (ng/ml)

	
	
	
	
	
	
	

	1
	0,046
	0,171
	34,45
	128,57
	-
	1,5

	2
	0,046
	0,173
	34,52
	126,44
	1,59
	1,56

	3
	0,047
	0,172
	34,26
	126,84
	1,16
	1,27

	4
	0,048
	0,173
	34,19
	126,22
	1,19
	0,96

	5
	0,047
	0,172
	34,39
	126,54
	1,6
	1,14

	6
	0,048
	0,173
	34,50
	127,26
	1,51
	1,19

	7
	0,046
	0,173
	34,29
	114,28
	1,54
	1,48

	8
	0,047
	0,172
	34,27
	128,58
	1,25
	1,11

	9
	0,047
	0,172
	34,31
	139,23
	1,46
	1,57

	10
	0,047
	0,170
	34,66
	145,18
	1,12
	0,93

	11
	0,047
	0,173
	34,30
	125,78
	1,28
	1,5

	12
	0,047
	0,174
	34,25
	110,96
	1,54
	1,23

	13
	0,047
	0,171
	34,32
	126,61
	1,35
	1,31

	14
	0,046
	0,172
	34,21
	128,27
	1,28
	1,13

	15
	0,047
	0,173
	34,30
	127,07
	1,38
	1,3

	16
	0,047
	0,173
	34,61
	133,25
	1,6
	1,41

	17
	0,047
	0,171
	34,28
	155,56
	1,49
	1,15

	18
	0,046
	0,173
	34,69
	122,62
	1,65
	1,31

	19
	0,047
	0,173
	34,20
	131,20
	1,33
	1,35

	20
	0,047
	0,171
	34,45
	141,67
	1,6
	1,43

	21
	0,047
	0,172
	34,32
	123,88
	1,6
	1,5

	22
	0,046
	0,172
	34,32
	141,95
	1,71
	1,2

	23
	0,047
	0,173
	34,34
	127,38
	1,51
	1,41

	24
	0,045
	0,175
	34,30
	108,17
	1,33
	1,35

	25
	0,047
	0,172
	34,20
	123,23
	1,37
	1,45

	26
	0,047
	0,173
	34,32
	119,94
	1,23
	1,4

	
	
	
	
	
	
	

	% CV
	1,15
	0,60
	0,41
	7,98
	11,85
	13,29
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Supplementary Figure 2. Model fitting check: Schoenfeld residuals of a univariate model adjusted for the sST2 concentration. The absence of significant correlation with time (p░=░0.395) is in agreement with a good fit of the model.
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Supplementary Table 1. Description of the causes of death.

	
	Total

	Characteristics
	N░=░93

	Underlying cause, n (%)
	
	

	 AIDS
	5
	(6.8)

	 Infections
	5
	(6.8)

	 Liver disease
	12
	(16.2)

	 NANHC*
	23
	(31.1)

	 Cardiovascular deaths / Sudden deaths
	7
	(9.5)

	 Others
	22
	(29.7)

	 Missing data
	19
	(.)

	Immediate cause, n (%)
	
	

	 AIDS
	2
	(2.3)

	 Infections
	1
	(1.1)

	 Liver disease
	10
	(11.4)

	 NANHC
	6
	(6.8)

	 Cardiovascular deaths / Sudden deaths
	12
	(13.6)

	 Others
	57
	(64.8)

	 Missing data
	5
	(.)


* NANHC: non-AIDS-defining and non-viral hepatitis

Supplementary Table 2. Factors associated with the risk of death in the ANRS CO3 Aquitaine Cohort including IL6 and VACS score (N░=░1414 and N░=░1299 for the univariable and multivariable models).

	Variables
	HR
	CI95%(HR)
	p*

	sST2 concentration (for 10 ng/mL higher)
	1.21
	(1.13–1.29)
	<.0001

	IL6 concentration (for 10 pg/mL higher)
	1.77
	(1.02–3.06)
	0.0411

	VACS index score (for 1 unit higher)
	1.04
	(1.02–1.06)
	<.0001

	Age (for 10 years older)
	0.78
	(0.58–1.06)
	0.1188

	Gender (Female vs. Male)
	0.42
	(0.20–0.90)
	0.0253

	Tobacco consumption
	1.00
	
	0.0370

	. Ex-smoker vs. Never
	1.96
	(0.96–4.02)
	.

	. Current vs. Never
	2.47
	(1.24–4.94)
	.

	Transmission risk group
	1.00
	
	0.5638

	. MSM vs. Heterosexual
	0.70
	(0.38–1.30)
	.

	. Drug users vs. Heterosexual
	0.90
	(0.46–1.75)
	.

	. Others vs. Heterosexual
	1.20
	(0.53–2.74)
	.

	Hemoglobin (for 1 g/100░ml higher)
	0.96
	(0.81–1.14)
	0.6207

	Time viral load >500 cp/mL (for 1 year more)
	1.09
	(1.02–1.18)
	0.0134

	Hepatitis B Virus infection (Yes vs. No)
	2.11
	(1.12–4.01)
	0.0218

	eGFR < 60 (Yes vs. No)
	1.75
	(0.73–4.16)
	0.2078

	Diabetes (Yes vs. No)
	2.34
	(1.36–4.04)
	0.0022

	Cancer (Yes vs. No)
	2.14
	(1.19–3.84)
	0.0112


Supplementary Table 3. Net Reclassification Index in patients who died (A) and in those who were still alive at 3 years (B) showing the improvement of classification when the model includes sST2 (upper-right cells in blue in Table 2A and lower-left cells in blue in Table 2B). Orange cells are worse reclassification due to sST2.
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_ AUC$et$Brier$Score$
!
Tableau!22!:!Comparaison!de!mesures!de!qualité!des!différents!modèles$



Time Measures 



With ST2 Without ST2 
ST2 



(univariable) With VACS Without VACS With VACS Without VACS 



Model 1 Model 2 Model 3 Model 4 



3 years AUC 0.710 0.700 0.671 0.643 0.328 



 Brier 
Score 0.02491 0.02523 0.02580 0.02622 0.02598 



5 years AUC 0.577 0.561 0.557 0.540 0.235 



 Brier 
Score 0.04366 0.04420 0.04527 0.04623 0.04614 



$



$



_ NRI$à$3$ans$(probabilité$de$l’évènement$en$3$classes)$
$



Tableau!23!:!Calcul!du!NRI!à!3!ans!S!classification!des!individus!présentant!l’évènement!



 Model with ST2  



Risk categories <5% 5-10% ≥10% Total 



 N=25 N=1 N=9 N=35 



Model without ST2, n (%)         



<5% 23 (92.0) 1 (100.0) 1 (11.1) 25 (71.4) 



5-10% 1 (4.0) 0 (0.0) 1 (11.1) 2 (5.7) 



≥10% 1 (4.0) 0 (0.0) 7 (77.8) 8 (22.9) 



!
Tableau!24!:!Calcul!du!NRI!à!3!ans!S!classification!des!individus!ne!présentant!pas!l’évènement!



 Model with ST2  



Risk categories <5% 5-10% ≥10% Total 



 N=1150 N=73 N=43 N=1266 



Model without ST2, n (%)         



<5% 1113 (96.8) 13 (17.8) 2 (4.7) 1128 (89.1) 



5-10% 36 (3.1) 48 (65.8) 4 (9.3) 88 (7.0) 



≥10% 1 (0.1) 12 (16.4) 37 (86.0) 50 (3.9) 



$
$
NRI!at!3!years$=$(3_2)/35$+$(49_19)/1266$=$5.2%$
$
$
$
$
$










ST2$–$Rapport$d’analyse$ $

V e r s i o n$0.6$16/09/2015$ $ 3 2 / 4 6 $

$

_   AUC$et$Brier$Score$ ! T a b l e a u!22!:!Comparaison!de!mesures!de!qualité!des!différents!modèles$ Ti m e   Me a s u r e s   Wi t h   S T 2   Wi t h o u t   S T 2   ST2   (u n i v a r i a b l e )   Wi t h   V A C S   Wi t h o u t   V A C S   Wi t h   V A C S   Wi t h o u t   V A C S   Mo d e l   1   Mo d e l   2   Mo d e l   3   Mo d e l   4  3  y ear s   AU C   0. 710   0. 700   0. 671   0. 643   0. 328    Br i e r   Sc o r e   0. 02491   0. 02523   0. 02580   0. 02622   0. 02598  5  y ear s   AU C   0. 577   0. 561   0. 557   0. 540   0. 235    Br i e r   Sc o r e   0. 04366   0. 04420   0. 04527   0. 04623   0. 04614  $ $ _   NRI$à$3$ans$(probabilité$de$l’évènement$en$3$classes)$ $ T a b l e a u!23!:!Calcul!du!NRI!à!3!ans!S!classification!des!individus!présentant!l’évènement!

  Model with ST2   

Risk categories  <5%  5-10%  ≥10%  Total 

  N=25  N=1  N=9  N=35 

Model without ST2, n (%)                 

<5%  23  (92.0)  1  (100.0)  1  (11.1)  25  (71.4) 

5-10%  1  (4.0)  0  (0.0)  1  (11.1)  2  (5.7) 

≥10%  1  (4.0)  0  (0.0)  7  (77.8)  8  (22.9) 

!

T a b l e a u!24!:!Calcul!du!NRI!à!3!ans!S!classification!des!individus!ne!présentant!pas!l’évènement!

  Mo d e l   w i t h   S T 2    

Ri s k   c a t e g o r i e s   <5%   5 - 10%   ≥ 10%   To t a l  

  N= 1 1 5 0   N= 7 3   N= 4 3   N= 1 2 6 6  

Mo d

e

l w i t h o u t   ST2 ,   n   ( % )                  

<5%  

1113   (9 6 . 8 )   13   (1 7 . 8 )   2   (4 . 7 )   1128   (8 9 . 1 )  

5 - 10%   36   (3 . 1 )   48   (6 5 . 8 )   4   (9 . 3 )   88   (7 . 0 )  

≥ 10%   1   (0 . 1 )   12   (1 6 . 4 )   37   (8 6 . 0 )   50   (3 . 9 )  

$

$

NRI!at!3!years$=$(3_2)/35$+$(49_19)/1266$=$5.2%$

$

$

$

$

$


B
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!
Tableau!22!:!Comparaison!de!mesures!de!qualité!des!différents!modèles$



Time Measures 



With ST2 Without ST2 
ST2 



(univariable) With VACS Without VACS With VACS Without VACS 



Model 1 Model 2 Model 3 Model 4 



3 years AUC 0.710 0.700 0.671 0.643 0.328 



 Brier 
Score 0.02491 0.02523 0.02580 0.02622 0.02598 



5 years AUC 0.577 0.561 0.557 0.540 0.235 



 Brier 
Score 0.04366 0.04420 0.04527 0.04623 0.04614 



$



$



_ NRI$à$3$ans$(probabilité$de$l’évènement$en$3$classes)$
$



Tableau!23!:!Calcul!du!NRI!à!3!ans!S!classification!des!individus!présentant!l’évènement!



 Model with ST2  



Risk categories <5% 5-10% ≥10% Total 



 N=25 N=1 N=9 N=35 



Model without ST2, n (%)         



<5% 23 (92.0) 1 (100.0) 1 (11.1) 25 (71.4) 



5-10% 1 (4.0) 0 (0.0) 1 (11.1) 2 (5.7) 



≥10% 1 (4.0) 0 (0.0) 7 (77.8) 8 (22.9) 



!
Tableau!24!:!Calcul!du!NRI!à!3!ans!S!classification!des!individus!ne!présentant!pas!l’évènement!



 Model with ST2  



Risk categories <5% 5-10% ≥10% Total 



 N=1150 N=73 N=43 N=1266 



Model without ST2, n (%)         



<5% 1113 (96.8) 13 (17.8) 2 (4.7) 1128 (89.1) 



5-10% 36 (3.1) 48 (65.8) 4 (9.3) 88 (7.0) 



≥10% 1 (0.1) 12 (16.4) 37 (86.0) 50 (3.9) 



$
$
NRI!at!3!years$=$(3_2)/35$+$(49_19)/1266$=$5.2%$
$
$
$
$
$
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_  AUC$et$Brier$Score$ ! Tableau!22!:!Comparaison!de!mesures!de!qualité!des!différents!modèles$ Time   Me a s u r e s   Wi t h   S T 2   Wi t h o u t   S T 2   ST2   (u n i v a r i a b l e )   Wi t h   V A C S   Wi t h o u t   V A C S   Wi t h   V A C S   Wi t h o u t   V A C S   Mo d e l   1   Mo d e l   2   Mo d e l   3   Mo d e l   4  3  year s   AU C   0. 710   0. 700   0. 671   0. 643   0. 328    Br i e r   Sc o r e   0. 02491   0. 02523   0. 02580   0. 02622   0. 02598  5  year s   AU C   0. 577   0. 561   0. 557   0. 540   0. 235    Br i e r   Sc o r e   0. 04366   0. 04420   0. 04527   0. 04623   0. 04614  $$ _  NRI$à$3$ans$(probabilité$de$l’évènement$en$3$classes)$ $ Tableau!23!:!Calcul!du!NRI!à!3!ans!S!classification!des!individus!présentant!l’évènement!   Mo d e l   w i t h   S T 2     Ri s k   c a t e g o r i e s   <5%   5 - 10%   ≥ 10%   To t a l     N= 2 5   N= 1   N= 9   N= 3 5   Mo d e l   w i t h o u t   S T 2 ,   n   ( %)                   <5%   23   (9 2 . 0 )   1   (1 0 0 . 0 )   1   (1 1 . 1 )   25   (7 1 . 4 )   5 - 10%   1   (4 . 0 )   0   (0 . 0 )   1   (1 1 . 1 )   2   (5 . 7 )   ≥ 10%   1   (4 . 0 )   0   (0 . 0 )   7   (7 7 . 8 )   8   (2 2 . 9 )  ! Tableau!24!:!Calcul!du!NRI!à!3!ans!S!classification!des!individus!ne!présentant!pas!l’évènement!

  Model with ST2   

Risk categories  <5%  5-10%  ≥10%  Total 

  N=1150  N=73  N=43  N=1266 

Model without ST2, n (%)                 

<5%  1113  (96.8)  13  (17.8)  2  (4.7) 1128  (89.1) 

5-10%  36  (3.1)  48  (65.8)  4  (9.3)  88  (7.0) 

≥10%  1  (0.1)  12  (16.4)  37  (86.0)  50  (3.9) 

$

$

NRI!at!3!years$=$(3_2)/35$+$(49_19)/1266$=$5.2%$

$

$

$

$

$


